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ADKES +AF |NADKES +H%E |NDOKRES +7HE |NOKES| 1F% NADRES LRF |ADKEES +F%E |NOKRESET 1H%E |HOKRES +7H%Z
DILBKR  OBFE |[OBREA 0BE |03BBK 0B |OLBRX o5 DILBK  OBFX [O3EBA 0B |035BX 0B |O3BRX 0B
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1 ~ 2 - = 100.0 1.0 = = 12.9 2.5 ~
2 ~ 3 = - 100.0 1.0 = - 12.7 2.5 ~
3 ~ 4 ~
4 ~ 5 110.7 1.0 100.0 1.0 = = 12.7 2.5 ~
5 ~ 6 110.7 1.0 100.0 1.0 = - 11.6 22 ~ B
6 ~ 7 104.6 1.0 100.0 1.0 - = 1.1 | 22 ~
7 ~ 8 - - 100.0 1.0 = = 10.5 2.0 ~
8 ~ 9 - ~ 100.0 1.0 = - 10.6 2.1 ~
9 ~ 10 105.9 1.0 100.0 1.0 - — 11.3 2.2 ~
10 ~ 11 105.9 1.0 100.0 1.0 = ~ 12.3 2.4 ~
11 ~ 12 ~
12 ~ 13 = = 99.8 1.0 = = 17 2.3 ~
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